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e Please check that this question paper contains 4 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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fomua fsgem -

(i) YHS RIS HIGHT25 T |
(i) HTYHE AII IS |
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(iii) YHE HIGHT1-14 35 993 5 837 @8 YHS IS | IT 18 YHE 2 W I& | g7 & IT YHS
g7 83730 mEeT 3 77 51 I TS/

(iv) YHE HnT15-21 3 BF §37 T8 YHE I | IT 187 YHS €4 Ha T | 757 & I YHE 7
E3780 g 3 27 3 T TS |

(v)  YHE HmT22-25 35 993 8§ §37 T8 YHE IB | IT 07 YHE € 6 Ha IS | 1857 & I

-

YHE €7 §3T 200 HES 3 G 3J] IS TIIET | YHE HiHT25 € 839 63 I YT T

FETT/
1. Geudflags T gt < fenmz= {8y | 2
2. AHTI WMESE ST A MIE T ? 2
3. Arfgdtade Anrdve faad ffen 33T 2 2
4. fog Heaa It (Hagd™) & 20T §3U=s et faR YgaT dd AdeT J 7 2
5. < fensdtyan 3sar fans f8dt 2 2
6. U9-IHI feaH ot I< I ? 2
7. &IdIa9s w3 Setidfiads vl feg gt Jeit yfafonrei 3 | fa= 2 2
8. ‘Budtage Traltnagd 2 2
9. wwafadt A Afenwgg I3t msed 2 2
10. wafedidds S ys agar= ot 96 ? Jet € fa | 2
11. H3HITs (TEeBTenns) fan e HdZ dge J ? 2
12.  Urfle= ot ys ferma=t fagdint 35 2 2
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21.

22.

23.

24.
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yf3fadt &3 339 < »iaw 8y |
T feadezgard (fa= 2
formfi™ I3 fa IHd AAUs Yt € S Ui feg fae <3 38 75 2
Y
AeASf 2 Yt 38 97 § HEUS I96 < B i1 7S TH AIAST w3 99 HIAST YIS
YUY dd |
grdlee (Bufasnae) & 7S o Qug fa< ygre ufenm |t 2
UfPreasd niesst Jf Geraasrfas fenm T 39 |
JTTfes Tt 28 4 HIShT w3 IHT T YT AT T |
IH fequd3T < 3733t w3 UgHt wige feg wisa mume 99 |
aaTfad (A=) ma &t I 2 feg smet 979 (Anrfedt) set fa= nigayds J 2 Beade f8y |
yoggee (hditfesns) &t Geaas Afas fanrfimr 39 |
Y
gt (Rmifafsx) grma AU W3 wiafad Hates feermar ot feq dedt femmsT 3t T |
foip™ 39 |
HSEH < ASHR 20T fAgs & mr@9a3Hd far™ipd™ 59 |
FHFSIE 5 fife Hifsnm Qua fag yge ufenm 3 2
yfgeg © 28 4 yIJ &t fanmfinm 33 |

Ey
&I AH < 2gdfiade <t fenrfym 39 |



25. Jsfe3UT Uz w3 for I fo3 ymet € B39 f8u -
fams 2 g39v sl
WW@GMMWE&W(W)@WW&@HNUT | 53T HHT UasT
It T79 farTs ; A9 78 9ad W13 I3 feggurare’ 3 Qud 85 4, feds I o gard § fagnrat
mﬁmmewﬁ?ﬁm 3' 7 87 ATag aeaneﬁ@@(m)EHﬁmm
aﬂﬁmrraﬁaﬂﬂ?s@rﬁeaﬁ?smaa%?zr | fog fan I3 W Bt A9 @ At JeT, ua feg

FIad »rud ft widara T ai feg g9 H, O < Saie faad 39, €5 & WS feg soreast
AfHET fendg 7 |

ISt TF 39 feg © faas' Qua WAgu= & »iyt Hfon T fa93 98 aHHfas J, ug
MWU%MMWEW?W?|WWW%&W@3&
St T | 993 few farrst @8 w3 o Wi feg 40-46% o Sfen I | ot faAst S FIed
T fors »uS 2% fi9e © STt A8 397 of 3da1d § MuaTen J | 3HSE3 ¢ fans »miE &3
S WTIHYTS I35 TS [THSETT © dd'S 3d & M | 113 faas’ § Hend feg foed fedu
YIRS BET HAET I ™ Bfas 978 »3 S¥d IH AT I BT § I8 fadt aret |
HIGHCT € A6 89 fgs WfipdT § WSHW™3 9196 19T ¥ s, fos! udd w3 Aadg It
Mwﬁwwﬁmwswdsﬁ?|Hdo<'d€f8aéprmrrfe—€r?§@weﬂaﬂﬂa°r?mﬂam°r
dftzr, 57 ft O A At | HIT BT Ot AIrt =1 fimis S 3 T, fradhort Seferre w3
fars feddt g5 | fea It st 2 &6, #t wim & T »ifts, mw@ﬁauﬁaﬂé‘few@w
12% 93 Barfenr e 3, gt fog 93 2rgnr 2 fx orfeg w3 fo88F Qua 28% 39 sarfen
fagr I | et (8J=gat) Qua 2 1.03% 3 =ud 5% o9 fe3m famr I | ofiF U9 T=rehr,
gt fa wimH wimet § 81 396 © &t 7gdt 96, BF BUT 18% 39 Sarfent famm J |

for As Tt & A 3 fmimeT 22.95 8 8H & wIg Uee9 I8t | feg wag Har d yar aga ©
st Tt o, ug fom S 7, 7 qyATHS © §egae € U fe9, AIAT 5 6.6 WHEHS T @
SELE] ed'HE(WI'H'd)BﬂBT(ﬁ:IEHWEH &=t 5)

fer gt Myt & farTs™ w3 wWag gdd Bugd gqwes' &t Je 37 yges i3t | 578 Jf
AIAI & foH 7% g&d QUd 25% TaHe (3) dH = iur & set A fa faas wast grs <t

3t 99 IJ 76 | For &8 e & M3 o9 It @ (5.9 #id v &) Jfen »i3 wIg ga9
o9 A3 we arenr |

A3 : 2feHa wire fedhrt, fergg 7, 2017

(o) faaat T Wr3Hw3 It weae @3t Y39ad 99 57 U It I& | for 9us € gae
36 ST YA I |

(W) FITT T s fuge © Bt faas” It faadnt™ 3aatar ot @33 it aret fem e oft
A IfemT 2
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(iv) 97 GE&IT15 — 21 T S5-3I qI67 J97 8 | T4 F97 & 4 37% & | 379 & J9% F97
BT IR 80 5] & 31e %7 78] 817 =150 |

(v) FI GEIT22 — 25 7% 37 F-3 q167 §97 & | 9% 97 & 6 3% 3 | 599 @ Fed
97 BT I 200 I5G] G 3718 7 7871 &7 T | F97 TEIT 25 T IR 16T 7T 377<8G
& IR WG 8 |

General Instructions :
(i)  There are 25 questions in all.
(i)  All questions are compulsory.

(iii) Questions no. 1-14 are short answer type questions carrying 2 marks each. Answer
to each question should not exceed 30 words.

(iv) Questions no. 15-21 are long answer type questions carrying 4 marks each.
Answer to each question should not exceed 80 words.

(v)  Questions no. 22-25 are very long answer type questions carrying 6 marks each.
Answer to each question should not exceed 200 words. Question no. 25 is to be
answered on the basis of the passage given.

1. et 6 1E o foeivard sarey | 2

State any two features of Industrialization.

2. EEIS e 1 37 FTEAT R ? 2

What is the meaning of social movement ?

3. ﬁﬁ?ﬂwﬁﬁmmﬁgﬁ@oinw)m@?ﬁﬁ? 2

State the points at which sanskritisation has been criticized.

4. T BISR HIRT (ASIGU) ol 31k Icdte o foru fore wrehm fta ot ke 8 7 2

How can a manager motivate the worker to produce more ?

5. o gey gor fohee forgdt ¢ 2

Who wrote Stree Purush Tulna ?
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10.

11.

12.

13.

14.
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RO fm TR § 7

What are Transnational Corporations ?

TR T Sfrerfiehter i 58 Uishamd & | e 7

Urbanization and Industrialization are linked processes. How ?

‘IeHIRuT T 31 R BT g 7

What is meant by ‘liberalization’ ?

TR & 39 T FHAA & 7

What do you understand by culture ?

AT eHTeRT0T shT TR FROMd &1 & 7 1S &1 ferfia |

What are the basic assumptions of modernization ? Write any two.

queciehtT fordt g wtar & ?

What does Globalization refer to ?

dofierre <l wena fersiward = & 7

What are basic features of capitalism ?

gferfafer Areras <1 378 qrET |

Give the meaning Representative Democracy.

ST T FG T & | B ?

Caste is a closed class. How ?
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15.

16.

17.

18.

19.

20.
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=T hifere fob o wamed it 3 o w0 8 e ffaa g 2 4
YT
T 3N - g ST Hedd o foIu bl S areft uget <61 Sif= Hifaa |

Explain how the social resources are divided into three forms of capital.
OR

Examine the state and non-state initiatives to address tribe discrimination.

UMAETE ¥ §AR T T hd TT STeAT AT 7 4

How has colonialism impacted our country ?

TTitferfaehia 3Tererl shi 3eTatun Tfad SHTE hifvT | 4

Explain the Ecological movement, with examples.

T sh! TT Tel 1T ohl TRET-SIRET ST | 4

Give an account of various powers and functions of Panchayats.

gerfruefientor & WA Te e 379 | f=rar sdrsd | 4

Differentiate between Western and Indian meaning of secularism.

AR TS 1 8 7 8 THIS o fore fopd wepm 3redqel 2 7 Serewer G | 4

What is a civil society ? How is it significant for the society ? Give example.
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21.

22.

23.

24.
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U TeRT0T <hl ITEL0T Hied AT shifoly | 4
AT

AT SR, AT 3T 3TRIe TTed e 6l Uk i faRiwdT Bt @ | =3
HIfr |

Explain commodification with examples.
OR

Periodic markets are central feature of social and economic organization. Explain.

TATeYH o SHEEAT g shl 3TT=HTcHe ST Shifu | 6

Critically explain the Malthusian theory of population growth.

qugetienr 3 fi=e fifean =i fore wepr ofera fepam 2 2 6

In what ways has Globalization affected the print media ?

qiER & fafi= gshri bt = il | 6
AT
ST T THTST o5 SFT{ehTuT shl ST <hITY |

Explain different types of families.
OR

Explain the classification of tribal societies.
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25.
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TR ! Ugeht 1 feu 7T Ie1 & 3T <
Toramt w1 fady W

A H, gH ThTS PV Tehe 1 51T T & | BTel &1 H g §IR (hHH HHN o FY
Tl for=mi I Ao ot o foTu feeett ugl, aTfer TXehR o ST ©eh foh 3k Tehl 3R
Td ot 3 fREI o Site Wi T8 T T 7 | 9 foREt 311 wmed o fote Sirga i
BT | Afh 78 TR 3194 & w3 79 § =T o, IR efirendn el 3 oft, 376
T ¥ SETGUAT e =Y 9 |

BTATTR T ¢ | fohEHI bl THTTIT i aTel 3THET TEI ol | [HehTeHT STHYE §, Tk
Ig Hewa ot & o &1 31o wud | T o uitfaa 8 | et <t sTTegen s Wt ot |
2 | IR H FopeT Temgen i T § 40-46% H G TR |

difed fREMT 9 THR o LA I 3T TE HY HH b ¢ GH TE & qehrileh ohl
U ] | ATHAHTG o TShET 319 |1 394 STTcHEeT i dTel TR & heblel o & |
17 fepeT T HeH § STRER ferier Teeia i o foTe Ietey BT weT wifeht 3Rt 37N Sere
ST TR GRI 3¢ Tieht AR € 1§ | HEWIY o Ja1 o= [SFeaiH 379+ [1ar- ot i strengean
T @ fean o feeett T8= 3 TR g 3191 GHaTE & fou &eiyde Saoii fomarm | IR &
T ot WY = 3Rt IUTeT i iR a1 foha, =1 & 37eh! g1 |

TIHR AR 37 Afe= W e <cft W g S Sgeht 3 fopam fawieft € | v & forg,
T8 % TEd, $F IR 3T HY TR 12% HL AT A &, T8 § S T2 SH
T TR 3R TS T 28% T T T &1 & | Jaehi WL 1.03% T 5% b 9¢ T ¢ |
eI, S foh Teh 31 317 o1 Wl S & fo7u S 2, 30 WX 18 % <HT TR ST § |

39 9T STl oh1 Ha SATET 22.95 TH.UH. . 9T 9] ITE g1 | I8 TS HiTT ! U

% fotu qafg grar oifer sHsh ST, Tehal HURMTEH o 3TEW o &9 H, TR 7 6.6
TH.UH.&. el 1 FehTe 3TRITd fohalT (I STTITd Y[oeh Y &) |

6
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T AAMH I A FREmI 3R =X TR 1 GHeAT hl 8 a%h JWIed o | a1y &

TERR A 36 T9 T W 25% 3T Yook 199 of foan Safer foham 3relt ®ae 61 aard

R Y | 3HY g o MG (5.9 AL H R Ihg 53 3T SRl S5 H hiFd =2 7 |

i : T 31 gfea, fewer 7, 2017

(31) ferami o stergen it geATd 9t ot & 9¢ W 2 | 39 U I IuYH HRUT A gfY
HIT |

(§) TIHR & EIH Dl ITHT L o foru frami 3 fora qebies 61 J=m form 7 saem
ERIRRIC R I

Read the passage and answer the following questions :
The farmer’s cruel fate

We are staring, currently, at a period of record agrarian distress. Recently several
thousand farmers marched to Delhi, across unions and political ideologies, to impress
upon the government that their lives have been devastated by the whimsical and poorly
thought out decisions of this government. It would have been a wake-up call for any
other regime. But for a government intoxicated by its own hubris and with its priorities

elsewhere, the valiant efforts were in vain.

Though it is impossible to summarise the myriad issues affecting farmers across the
country, it is vital that we acquaint ourselves with their struggle. Farmer’s suicides
have increased at an alarming rate. There has been a recorded increase of 40-46% in

the number of farmer suicides across India.

Suffering farmers have adopted all sorts of mechanisms to try and catch the
government’s attention. Farmers from Tamil Nadu have brought along skeletal
remains of their kin who committed suicide. Peaceful farmers were forced to resort to
loud protests in Mandsaur and were shot dead by an apathetic and cruel state
government. Young children from Maharashtra who have lost their parents to suicides
arrived in Delhi and waited patiently to be heard by the government. Not a single
representative of the government bothered to acknowledge their presence, let alone

grant them an audience.
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The government continues to pursue policies that are bizarrely anti-farmer. For one,
under GST, tractors and other agricultural implements are taxed at 12%, with some of
their components such as tyres and tubes being taxed at 28%. The tax on fertilizers has
risen from 1.03% to 5%. Pesticides, which even a layman would attest are essential for

farming, are taxed at 18%.

This year saw the highest ever domestic production of pulses at 22.95 MMT. This
would have been sufficient to meet domestic demand but instead, in an example of
gross maladministration, the government imported a record 6.6 MMT of pulses (at

zero import duty no less).

This excessive supply led to a crash in prices affecting farmers and the domestic
market. Separately in this same year, the government withdrew import duty on wheat
from 25% to zero just as farmers were preparing to harvest their crop. This led to a

massive increase in wheat imports (5.9 MT) from abroad crashing domestic prices.
Source : Times of India, December 7, 2017

(a) ‘Farmers’ suicides have increased at an alarming rate. Support the statement

with suitable reasons.

(b) What were the techniques used by the farmers to capture the government’s

attention ? What were its effects ?
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